XGAM VA
5 L iR i 1 HANSAVFLEX

L} s
B0 1 K$IPIRGL B R I
BHERX 1 AR

#£02 KRAEIFMRL, B4
BHER 2 24°R#
gges he X iRieEE

‘ | i
! & ] 32

/ﬂ e .-. J. = . ol .- T

gURR BE *_%JQJ“J*
79,3 DIN 2353 : I Lzh -

1ISO 8434-1 - L -
HeEE BEFTHEIZZ MBI
-8 TN
7R
AXRE, EA, EHARAATNIERENEAELSASEREENERER.
#* &

gMRry IEESLE

XGAM NW 04 HL VA L PN 315 6 M10x1 M12x1.5 12,5 26,5 19,5 14
XGAM NW 06 HL VA L PN 315 8 M12x1.5 M14x1.5 17,0 31,0 24,0 17
XGAM NW 08 HL VA L PN 315 10 M 14 x1.5 M16x 1.5 17,0 32,0 25,0 19
XGAM NW 10 HL VA L PN 315 12 M16x1.5 M18x1.5 17,0 33,0 26,0 22
XGAMNW10HL18VA L PN 315 12 M18x1.5 M18x1.5 17,0 33,0 26,0 22
XGAM NW 13 HL VA L PN 315 15 M18x 1.5 M22x1.5 17,0 34,0 27,0 24
XGAM NW 16 HL VA L PN 315 18 M22x1.5 M26x1.5 19,0 36,0 28,5 27
XGAM NW 20 HL VA L PN 160 22 M26x1.5 M 30 x 2 21,0 41,0 33,5 32
XGAM NW 25 HL VA L PN 160 28 M33x2 M 36 x 2 24,0 44,0 36,5 41
XGAM NW 32 HL VA L PN 160 35 M42x 2 M 45 x 2 26,0 49,0 38,5 50
XGAM NW 40 HL VA L PN 160 42 M48x 2 M52 x 2 28,0 51,0 40,0 55
XGAM NW 03 HS VA S PN 630 6 M12x1.5 M14x1.5 17,0 33,0 26,0 17
XGAM NW 04 HS VA S PN 630 8 M14x1.5 M16x 1.5 17,0 33,0 26,0 19
XGAM NW 06 HS VA S PN 630 10 M16x 1.5 M18x 1.5 17,0 34,0 26,5 22
XGAM NW 08 HS VA S PN 630 12 M18x 1.5 M20x 1.5 17,0 34,0 26,5 24
XGAMNWO08HS20 VA S PN 400 12 M20x 1.5 M20x 1.5 17,0 38,5 31,0 27
XGAM NW 10 HS VA S PN 630 14 M20x1.5 M22x1.5 19,0 38,5 31,0 27
XGAM NW 13 HS VA S PN 400 16 M22x1.5 M24x1.5 19,0 39,0 30,5 30
XGAM NW 16 HS VA S PN 400 20 M27 x2 M30x2 22,0 45,0 34,5 36
XGAM NW 20 HS VA S PN 400 25 M 33 x2 M 36 x 2 24,0 49,0 37,0 M
XGAM NW 25 HS VA S PN 400 30 M42x2 M 42 x2 26,0 55,0 41,5 55
XGAM NW 32 HS VA S PN 315 38 M 48 x 2 M52 x2 28,0 59,0 43,0 60

SZHRRFLLL=FER =B S=E - PN=FEEN PB=HRAIFEN - 0d2=E/HER

FREE
XGAM hE L S IRRE R, W
GAM VA  FE ERIRRIEE THN

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



